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1
1.1
(€D) o
(@) :SY295
(©) :E = 2.000x 10°(kN/m?)
)
—————— 1w
m G.L. 2.700
m G.L. 2.000
m G.L. 1.200
m G.L. -4.000
m G.L. -7.500
m 9.500
Ao cm’/m 131.20
lo cm‘/m 13000
Z0 cm’/m 1000
A cm’/m 85.28
1 cm‘/m 8450
Z cm’/m 650
®)
:30
0.300 mm/
0.020 mm/
0.300x 30=9.000 mm
0.020x 30=0.600 mm
(1 ):a, = 0.65
(¢4 ):a:=0.65
: A =0a A = 0.65x 131.20 = 85.28 cm’/m
1 = a,l, = 0.65x 13000 = 8450 cm*/m
Z = d ;Z, = 0.65x 1000 = 650 cm*/m

FORUMS8




1.2
1.2.1
€y
1)
MR HE R G L. 2,700
MWL GL L80=2al
RWE G 1200 < 10. 77
L.W.L G.L. 0.000 14. 27
18. 63
N5, 32
fEiEKE G L. —4.000 21. 30
45. 23
Pai = Kui[z Y ihi+ d }
cos f3
cos® ¢ ;
K, ai = (b 2
sin(<i>;+5 ;)Sin(d) i_B)
cos 6 ;| 1+
cos § icos fB
K. = K’ 4iCOS O ;
cos § isin( ¢+ )
cot(L=B) = ~tan(¢d+ 6 —B)tsec(d i+ 86— B)
cos Bsin(dpi—fB)
Puii = 2 v ihitq—2c¢;
Paiz = 0. 5(2 0% ihw+q)
No 'l GL(m) ?m) 3 wom | = rheg ca Pal Pa2
v () kN/m? KN/’ KN/’ )
1 2.700 1.500 | 18.0 | 30.00 0.0 10.00 0.291 2.91 ——— 56.860
1.200 15.00 0.0 37.00 0.291 10.77 ———= 56.860
2 1.200 | 1.200 | 10.0 | 30.00 0.0 37.00 | 0.291 10.77 - 56.860
0.000 15.00 0.0 49.00 0.291 14.27 ——— 56.860
3 0.000 [ 1.500 | 10.0 | 30.00 0.0 49.00 [ 0.291 14.27 —— 56.860
-1.500 15.00 0.0 64.00 | 0.291 18.63 - 56.860
4 -1.500 2.500 | 10.0 | 35.00 0.0 64.00 0.239 15.32 ———= 60.091
-4.000 15.00 0.0 89.00 [ 0.239 21.30 —— 60.091
5 -4.000 | 10.000 [ 10.0 | 35.00 0.0 89.00 0.239 21.30 ——— 60.091
-14.000 15.00 0.0 189.00 0.239 45.23 ———= 60.091

FORUMS8




2)

W& K G. L. 2.700
YL Gl 1800
Ko W.o L. U. L. 1. Z2UU
L.W.L. G.L. 0.000
REEKIE G L. —4.000
<]
<]
633. 14
pi = Km’ 2 ihi+
P { v cos f3 }
K L= cos“ ¢ ; :
\/sin(d)i—ﬁ Jsin(o i+ B)
cos 6 ;| 1-
cos 0 icos B
Km’ = K’ »COS (3 i

cot(L—B) = tan(¢151+B)+sec(¢151+6)w/

Py = X vy hitq+2ce;

cos §:sin(¢p—§1)

cos Bsin(¢ +3)

No GL(m) (m) g kN/;Z > rh+q K Pp 4
v () KN/ P kN/E | ()
1| -4.000 |10.000 | 10.0 | 35.00 0.0 0.00 | 6.331 0.00 | 18.674
-14.000 -15.00 0.0| 100.00 | 6.331 | 633.14 |18.674

FORUMS8



@)
1
R.W. L. G.L. 1.200
L.W.L. G.L. 0.000
REEKZE G L. —4.000
No h pw
6L | my | ks
1] 1.200| 1.200 0.00
0.000 12.12
2 0.000 1.500 12.12
~1.500 12.12
3| -1.500| 2.500| 12.12
-4.000 12.12
a| -a.000|10.000| 12.12
-14.000 12.12
A
(N/T) (kN/T)
ol e |
1 2.700 1.500 —_—— 2.91 0.00 2.91
1.200 - 10.77 0.00 10.77
2 1.200 1.200 —-— 10.77 0.00 10.77
0.000 —_—— 14.27 12.12 26.39
3| 0.000]| 1.500 . 14.27 12.12 26.39
~1.500 - 18.63 12.12 30.75
4 -1.500 2.500 -—— 15.32 12.12 27.44
~4.000 o 21.30 12.12 33.42
5 -4.000 | 10.000 0.00 21.30 12.12 33.42
~14.000 633.14 45.23 12.12 57.35
1.2.2
€H)
1
( =2.670m G.L.-6.670m)

12. 12

12. 12

12.12

12. 12

FORUMS8




2)

3)

(kN.m/m) (kN/m)
(Ma) 1045.90 | (Pa) 238.98
(Mp) 1575.24 | (Pp) 225.68
F = Mp/Ma 1.51
m (G.L.  2.700)m
m (G.L.  2.000)m
m (G.L. -4.000)m
m (G.L. -7.500)m
( ) m 10.200
( - ) m 9.500
( - ) m 3.500
2. 700 2.700
Eéi?'77 =
N
26. 39 —.
226. 39 o
[l
Lo
30. 75 -
27. 44
(o]
o
Lo
|
—4. 000 33, 42
a 333. 42
=) | =]
(e | o
Lo ‘ Lo
\
221. 60~ 141. 80
(kN.m/m) (kN/m)
(Ma) 1326.59 | (Pa) 272.85
(Mp) 2921.40 | (Pp) 387.80
F = Mp/Ma 2.20 Fa=1.50 ...0K
( )
pl p2 h = (pl p2)x h/2
=( ) (W/3)x (p1  2x p2)/(pl p2)
No h pa Pa y Ma
GLeM | m) | kw/m KN/ m KN.m/m
1 1.200 | 1.200 10.77 22.30 0.684 15.25
0.000 26.39
2 0.000 [ 1.500 26.39 42.85 1.969 84.39
-1.500 30.75

FORUMS8



No h pa Pa y Ma
GLaM | ) | ke KN/m n KN.m/m
3| -1.500 | 2.500| 27.44| 76.07| 3.901 303.59
~4.000 33.42
4| -4.000| 3.500| 33.42| 131.63| 7.015 923.36
~7.500 41.80
s 272.85 1326.59
No h pp Pp y Mp
GLaM | ) | ke KN/m m KN.m/m
1| -4.000]| 3.500 0.00| 387.80| 7.533| 2021.40
~7.500 221.60
s 387.80 2921.40
@
1
2. 700 2.700
91 o
<
Lo
<
=y g
26.39 A
26. 39 =
Lo
3075 =
Q7. 44
o
e}
Lo
o
— <
100 8 33, 42
s

FORUMS8




2)

m (G.L. 2.700)m
m (G.L. 1.200)m
m (G.L. -4.000)m
m 5.200
Mmax kN.m/m 92.66
) m 2.700(G.L. -1.500)m
Smax kN/m 76.35
) m 5.200(G.L. -4.000)m
RA kN/m 75.14
RB kN/m 76.35
O max m 0.0153
( ) ) m 2.600(G.L. -1.400)m
Vot ey | )
(KN/m*) (KN/m*) (KN/m*)
1 2.700 | 1.500 0.00 2.91 2.91
1.200 0.00 10.77 10.77
2 1.200 1.200 0.00 10.77 10.77
0.000 0.00 26.39 26.39
3 0.000 | 1.500 0.00 26.39 26.39
-1.500 0.00 30.75 30.75
4 -1.500 | 2.500 0.00 27.44 27.44
-4.000 0.00 33.42 33.42

FORUMS8




1.3

1.3.

@
D

1

MR mE Kug 6. L. 2.700

H.W. L. G.L. 1.800 ~93
Rt 6t — 12060 12. 33
9
% 77

L.W.L G.L. 0.000 {7
.05
25. 54
22. 65
EE KR G L. —4.000 32. 24

75.21

Pai = K;,;[Z Y ihi+ d }

cos f3
i cos’(¢p—03)
K. = 2
Sil’l(qﬁﬁ’(sosin((ﬁjfﬁiei)
cos 0 icos(§+0 ) |1+
cos(§+0)cosp
K. = K .icosd

cos(§:+0:)sin(p:i+61)

cot({—B) = tan((bﬁ@jﬁﬂsec(qbﬁéiﬁ)\/

S T 10mEA
3 (2 V1h1+Q)Sin(<ai+91) Ci
Perr = cos 0 sin { . cos { .isin

Cu = tan‘\/l—(iy2 d ) tan 0 ;
Ci

P.iz = 0. 5(2 Y ihi+q)
T T () IDRESS
D1 = 2 v shitq—2c;
Paiz = 0. 5(2 Y ihi+q)

cosfBsin(¢—B-0)

FORUMS8



2)

No h ¢ c
GL(m) o) > | Z rh+q K 0 Pal Pa2
M LYy |y |k ()| *@ KN/ kv | C)
1 2.700 1.500 [ 18.0 | 30.00 0.0 5.00 0.14 | 7.970 | 0.385 1.93 -—— 49.201
1.200 15.00 0.0 | 32.00 0.14 | 7.970 | 0.385 12.33 -—— 49.201
2 1.200 1.200 | 10.0 30.00 0.0 | 32.00 0.16 9.242 0.404 12.93 ——— 47.778
0.000 15.00 0.0 | 44.00 0.16 | 9.242 | 0.404 17.77 -—— 47.778
3 0.000 1.500 [ 10.0 | 30.00 0.0 | 44.00 0.20 | 11.082 | 0.433 19.05 -—— 45.598
-1.500 15.00 0.0 | 59.00 0.20 | 11.082 0.433 25.54 ——— 45_.598
4 -1.500 | 2.500 | 10.0 | 35.00 0.0 | 59.00 0.22 | 12.498 | 0.384 22.65 -—— 48.614
-4.000 15.00 0.0| 84.00 0.22 [ 12.498 | 0.384 32.24 ——— 48.614
5 -4.000 | 10.000 | 10.0 | 35.00 0.0 | 84.00 0.25 | 14.074 | 0.409 34.33 -—— 46.824
-14.000 15.00 0.0 | 184.00 0.25 | 14.074 | 0.409 75.21 -—— 46.824
HFREKdm G. L. 2.700
H.W. L. G.L. 1.800
Rt 6t — 1260
L.W.L. G.L. 0.000
KR G L. —4.000
<
<
496. 02
Pri = Km|:2 0% ihit }
cos BB
i cos” (¢ =0 )
KW = >
sin(¢pi—6)sin(¢p:+B-0)
cos 0 icos(6—05) |1~
cos(§i—0:)cosp
K,: = K ,icos §;

cot(L—B) = tan(¢561+8)+sec(¢15ﬁ3)\/

Poi =

cos(6:=0:)sin(p:—61)

cosBsin(¢+B-0)

2 v shitq+2ce;

FORUMS8




- 10 -

No | GLqm) Qm) 3 woe | Erhra| K 0 ‘ Pp Z
v () KN/ () P kNt | ()
1| -4.000 |10.000 | 10.0 | 35.00 0.0| 0.00| 0.28|15.792 | 4.960 0.00 | 16.426
-14.000 -15.00 0.0 |100.00 | 0.28 |15.792 | 4.960 | 496.02 | 16.426
@
1)
R.W.L. G.L. 1.200
L.W.L G.L.  0.000 12.12
< 12. 12
E1E/KIZE G L. —4.000 12.12
=
12. 12
No h pw
CLCM | ) | kN
1 1.200 | 1.200 0.00
0.000 12.12
2 0.000 | 1.500 12.12
-1.500 12.12
3| -1.500 | 2.500 12.12
-4.000 12.12
4| -4.000 | 10.000 12.12
-14.000 12.12
3
(KN/m?) (kN/m)
Vot ey | )
1 2.700 | 1.500 — 1.93 0.00 — 1.93
1.200 — 12.33 0.00 — 12.33
2 1.200 | 1.200 — 12.93 0.00 — 12.93
0.000 — 17.77 12.12 — 29.89
3| 0.000| 1.500 — 19.05 12.12 — 31.17
-1.500 — 25.54 12.12 — 37.66
4| -1.500 | 2.500 — 22.65 12.12 — 34.77
-4.000 ——- 32.24 12.12 — 44.36
5| -4.000 | 10.000 0.00 34.33 12.12 — 46.45
-14.000 496.02 75.21 12.12 — 87.33

FORUMS8




- 11 -

1.3.2
@
1
( =3.400m G.L.-7.400m)
(kN.m/m) (kN/m)
(Ma) 1781.19 | (Pa) 357.78
(Mp) 2140.67 (Pp) 286.70
F = Mp/Ma 1.20
2)
m (G.L. 2.700)m
m (G.L. 2.000)m
m (G-L. -4.000)m
m (G.L. -7.500)m
( - ) m 10.200
( - ) m 9.500
( - ) m 3.500
2. 700 2. 700
__3%2.93 S
N
29. 89 —
ggg§\31.17 o
(]
Lo
37. 66 _
34. 77
(]
(]
Lo
N
-4, 000 414, 36
:::::::i46.45
\
o \ o
(] | (]
Lo \ Lo
o3 \ o3
\
\\
173. 61~ 160. 76
(kN.m/m) (kN/m)
(Ma) 1833.57 (Pa) 363.84
(Mp) 2288.70 | (Pp) 303.81
F = Mp/Ma 1.25 Fa=1.20 ...0K
3) )
pl p2 h = (p1 p2)x h/2
=( ) (W3)x (p1 2x p2)/(pl p2)

FORUMS8



- 12 -

No h pa Pa y Ma
LM | m) | kw/m KN/ y KN.m/m
1| 1.200| 1.200| 12.93| 25.69| 0.679 17.45
0.000 29.89
2| 0.000| 1.500| 31.17| 51.62| 1.974 101.87
~1.500 37.66
3| -1.500| 2.500| 34.77| 98.91|  4.001 395.68
~4.000 44.36
4| -4.000| 3.500| 46.45| 187.62| 7.028| 1318.57
~7.500 60.76
s 363.84 1833.57
No h pp Pp y Mp
GLaM | ) | ks KN/m n KN.m/m
1| -4.000 | 3.500 0.00| 303.81| 7.533| 2288.70
~7.500 17361
s 303.81 2288.70
@
1)
2. 700 2. 700
93 o
[en)
Lo
12. 33 =
3 S
[aN]
29. 89 =
U\l. 17 =
Lo
37.66 =
84, 77
o
(=]
Lo
o
— ()
1.000 8 44. 36
s

FORUMS8




- 13 -

2)

m (G.L. 2.700)m
m (G.L. 1.200)m
m (G.L. -4.000)m
m 5.200
Mmax kN.m/m 116.05
) m 2.700(G.L. -1.500)m
Smax kN/m 97.87
) m 5.200(G.L. -4.000)m
RA kN/m 89.04
RB kN/m 97.87
O max m 0.0191
( ) ) m 2.600(G.L. -1.400)m
Vot ey | )
(KN/m*) (KN/m*) (KN/m*)
1 2.700 | 1.500 0.00 1.93 1.93
1.200 0.00 12.33 12.33
2 1.200 1.200 0.00 12.93 12.93
0.000 0.00 29.89 29.89
3 0.000 | 1.500 0.00 31.17 31.17
-1.500 0.00 37.66 37.66
4 -1.500 | 2.500 0.00 34.77 34.77
-4.000 0.00 44.36 44 .36

FORUMS8




- 14 -

1.4
€Y)

Iw

SY295

> N

x 10°(mm*/m)

x10°(mm’/m)

650
1.000
85.28

¢)

Mx

10°(N.mm/m)

Nx 10°(N/m)

92.66
116.05

0.00
0.00

®

MX10°

NX10°
+

a = ZX10°

AX10?

(N/mm?)
(N/mm?*)
(cm*/m)
(cm?/m)

o
N/mn?

oa
N/mn?

142.6 180.0
178.5 270.0

OK
0K

FORUMS8
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2
2.1
2.1.1
(€D H
(@) 1 2.400 (m)
3 :SHK400
4 tE = 2.000x 10°(kN/m*)
®)
—————— H 350x 350x 12x 19
m G.L. 2.700
m G.L. 2.000
m G.L. 1.200
m G.L. -7.500
m 9.500
Ao cm’/ 171.90
lo cm/ 39800
Z0 cm’/ 2280
A cm’/ 159.35
| cm/ 37083
z cm’/ 2132
(6)
:30
:0.020 mm/
:0.020x 30 = 0.600 mm
Vi 1 £ -

A= 2tfB + tw(H - 2tf)
WriEi2ike— A > b
BH' = (H - 2t£)'X (B - tw)
12

I =

Wrim bRk
L
H/2

H (cm)
B (cm)
tw (cm)
tf (cm)

H = 35.00 cm

B = 35.00 cm

tw=1.20 cm

:tf = 1.90 cm
A= 170.44 cm’/
217= 39506 cm‘/
7%= 2257 cm¥/

At =0.06 cm
H-2At =34.88 cm

FORUMS8



- 16 -

B-2At=234.88 cm
tw-2At =1.08 cm
tf - 2At = 1.78 cm

A" = 158.00 cm’/

1" = 36809 cm‘/
: Z" = 2111 cm¥/
i e T
N 158. 00 ,
A= —A = X171.90 = 159.35 cn’
AL 170,44 o'/
JE R BWm2kE— A > b
r 36809
[ = —1, = X 39800 = 37083 cm'
I, " 39506 om'/
JEfE % W ARk
7 2111
7= 7, = %2280 = 2132 cn’
7.7 9257 o'/

FORUMS8
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2.2
2.2.1
@
Lm1/3
1
(G.L.-4.000 m)
No h . . Ldi (m)
G.L.(m) | G.L.(m) m o C) CaC) = hi cotl a
2 -1.500 -4.000 | 2.500 35.00 60.09 1.438
1 1.200 -1.500 | 2.700 30.00 56.86 1.763
2z 5.200 3.201
2)
- ” . e . Lml
%zh@ﬁ&%ﬂ?zh&%ﬁ@ﬁﬁm%—-g—
8.613
= G.L.1.200 - = G.L.-1.671(m)
No h . . Ldi (m)
G.L.(m) | G.L.(m) m ®C) ¢pC) = hi cotl p
2 -1.500 -1.671 | 0.171 35.00 18.67 0.506
1 1.200 -1.500 | 2.700 30.00 20.65 7.163
2z 2.871 7.669
3)
Ldmin
Ldmin = Z hi cot{ a + ~ hi cot{ p =3.201 +7.669 =10.870(m)
)
Ld =10.870(m)
Ld =13.300(m)  Ldmin =10.870(m)... OK
©)) Lml
Ldmin = 10.870(m) Lml
1)Lml
Lml
7T
Lml = — = ———— =8.613(m)
B 0. 364732
2) B
B

B

4JkH-B N/ 15000. 0 X 350. 0 X107
4ET o 4X2. 000X 10°X 37083 X 107X 1. 000

=0. 364732 (m™)

kH = 15000.0(kN/m°)
B = 350.0x 107°(m)
B H B
E = 2.000x 10°(kN/m?)
I = 37083x 10°(n")
( ) o = 1.000

FORUMS8
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3)
KH = 15000.0(kN/n)
Ldmin=10. 870
La=3. 201 1p=7. 669
G. L. 1. 200
c. L. Salogd- 990
P B FE#E=13. 300
2.2.2
(€H)
3. 00 3.00
D= = =8. 225 (m) < EAHRAILE=8.700(m)...  OK
3 0. 364732 (m) =RBANE (m)

(G.L. 2.000)m

(G.L. 1.2009m

(G.L. 1.200)m

) 0.364732
D = 3.00/B 8.225(C.L. ~7.025)n
(m) 8.700(G.L. -7.500)m
oK
9.500m

1)

B
B
-

KH-B | 15000. 0X350. 0 X 10°
4ET « - \/4><2. 000X 10°X 37083 X 10°X 1. 000
kH = 15000.0(kN/m®)
B = 350.0x 107°(m)
B H
E = 2.000x 10°(kN/m)
I = 37083x 10°(m")
( ) a = 1.000

=0. 364732 (m™)

FORUMS8




- 19 -

2)

2.2.3

€Y
D

H
Mmax = 0. 3224? = 0.3224X

kH =

15000. 0(KN/m°)

180. 34
0. 364732

=159. 41

1 H = Rax Lx secf ®
2) ( )
7T 7T
Lm = = =2. 1563
48 4X0. 364732
B m 0.364732
H kN/ 180.34
( ) h m 0.000
Mmax kN.m/ 159.41
( ) m 2.153(G.L. -0.953)m
B
1 B
B
C[kH-B 15000. 0 X 350. 0 X 10~ .
B =" = - — =0. 364732 (m™")
4ET o 4X2.000X10"X37083X107X1.000
kH = 15000.0(kN/m*)
B = 350.0x 107°*(m)
E = 2.000x 10°(kN/m?)
I = 37083x 10°*(m")
( )a = 1.000
2)
kH = 15000.0(kN/m*)
€)
H
= - < 5 a
2Bl a B°
B m' 0.364732
E x 10°  kN/nf 2.000
[ x 10° m/ 37083
a [ - 1.000
H kN/ 180.34
( ) h m(G.L.m) | 0.000(G.L. 1.200)m
d0a m 0.030
- H o 180. 34
2ET o B 2X2.000X10°X37083X 107X 1.000X0. 364732°
6 =0.025(m) & a=0.030(m)... OK

FORUMS8



- 20 -

2.3
2.3.1
@
Lm1/3
1
(G.L.-4.000 m)
No h . . Ldi (m)
G.L.(m) | G.L.(m) m o C) CaC) = hi cotl a
2 -1.500 -4.000 | 2.500 35.00 48.61 2.203
1 1.200 -1.500 | 2.700 30.00 46.43 2.568
b2 5.200 4.771
2)
- ” . e . Lml
%zh@ﬁ&%ﬂ?zh&%ﬁ@ﬁﬁm%—-g—
8.613
= G. L. 1.200 - = G.L.-1.671(m)
No h . . Ldi (m)
G.L.(m) | G.L.(m) m ®C) ¢pC) = hi cotl p
2| -1.500 | -1.671| 0.171 35.00 17.14 0.555
1 1.200 -1.500 | 2.700 30.00 18.72 7.968
2z 2.871 8.523
3)
Ldmin
Ldmin = Z hi cot{ a + ~ hi cot{ p =4.771 +8.523 =13.294(m)
)
Ld =13.294(m)
Ld =13.300(m)  Ldmin =13.294(m)... OK
®3) Lml
Ldmin = 13.294(m) Lml
1)Lml
Lml
7T
Lml = — = ———— =8.613(m)
B 0. 364732
2) B
B

B

4JkH-B N/ 15000. 0 X 350. 0 X107
4ET o 4X2. 000X 10°X 37083 X 107X 1. 000

=0. 364732 (m™)

kH = 15000.0(kN/m°)
B = 350.0x 107°(m)
B H B
E = 2.000x 10°(kN/m?)
I = 37083x 10°(n")
( ) o = 1.000

FORUMS8
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3)
kH = 15000.0(kN/m°)
Ldmin=13. 294
La=4. 771 Lp=8. 523
G.L. 1. 200
G:_L - _1'_5 n_
c. L. Salogd- 990
P B FE#E=13. 300
2.3.2
€Y
3. 00 3. 00
D = = =8.225(m) = FEWANEFE=8.700(m)... OK
B 0. 364732 (m) BANE (m)

(G.L. 2.000)m

(G.L. 1.200)m

(G-L. 1.200)m

) 0.364732
D = 3.00/B 8.225(G.L. -7.025)m
(m) 8.700(G.L. -7.500)m
0K
9.500m

1)

B
B
-

15000. 0 X 350. 0 X107 .
=0. 364732 (m™)

KI-B
AFla \/4><2. 000 X 10°X 37083 X 10X 1. 000

kH = 15000.0(kN/m®)

B = 350.0x 107°(m)

B H B
E = 2.000x 10°(kN/m)

I = 37083x 10°*(m")

a = 1.000

FORUMS8
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2)

2.3.3
@
)

H
Mmax = 0. 3224? = 0.3224X

kH =

15000. 0(KN/m)

213.70
0. 364732

=188. 89

1 H = Rax Lx secf ®
2) ( )
7T 7T
Lm = = =2. 1563
48 4X0. 364732
B m* 0.364732
H KN/ 213.70
( ) h m 0.000
Mmax kN.m/ 188.89
( ) m 2.153(G.L. -0.953)m
B
1 B
B
[kH-B 15000. 0X350. 0 X 10~ )
B =" = - — =0. 364732 (m™")
4ET « 4X2.000X10"X37083X107X1.000
kH = 15000.0(kN/m*)
B = 350.0x 107°*(m)
E = 2.000x 10°(kN/m?)
I = 37083x 10°(m")
( Ja = 1.000
2)
kH = 15000.0(kN/m*)
€)
H
= - < 5 a
2Bl a B°
B m' 0.364732
E x 10°  kN/nf 2.000
[ x 10° m/ 37083
a [ - 1.000
H kN/ 213.70
( ) h m(G.L.m) | 0.000(G.L. 1.200)m
d0a m 0.030
" 213.70
2ET o B 2X2.000X10°X37083X 107X 1.000X0. 364732°
o =0.030(m) o a=0.030(m)... OK

FORUMS8
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2.4
@
H
H 350x 350x 12x 19
SHK400
Z x 10°(mm’/ ) 2132
?
Mx 10°(N.mm/ )
159.41
188.89
®)
MX10°
= o a
7% 10°
o (N/mm?)
oa (N/mm?)
Z (cm*/m)
o oa
N/mm? N/mm?
74.8 140.0 0K
88.6 210.0 OK

FORUMS8
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(

) = 0.030x 30 = 0.9(mm)

¢)
(kN)

180.34(kN/ )

213.70(kN/ )

50. 00
— X sec 0.000 = 192. 84 (kN/A)

3
@
@ 38.0(mm)
(mm/ )x
¢ 38.0 - 2x 0.9 = 36.2(mm)
1029.2(mm?)
: 690
:L = 2.400(m)
)
v
T = (R.XL) Xsec#
v
P
T = |R.XL + — ] Xsec6
n
T (kN/ )
Ra: (kN/m)
0 :
P 1
n
1)
T =( 75.14x 2.400)x sec 0.000 =
2)
T =( 89.04x 2.400)x sec 0.000 =
3)
T = 75.14X 2.400 +
€))
TX10°
o = = 0a
A
a (N/mm?)
oa (N/mm?)
A = 1029.2(mm?)
o o a
N/mm? N/mm?
175.2 176.0 OK
207.6 264.0 0K
187.4 264.0 0K

FORUMS8



- 25 -

4
€y
200x 80x 7.5x 11
:SS400
@
T XL
M =
10
M (kN.m)
T (kN7 )
L (m) L = 2.40(m)
T M
x 10N/ ) x 10°(N.mm)
180.34 43.28
213.70 51.29
192.84 46.28
€))
MX10°
o = o a
7 X 10°
o (N/mm?)
g a (N/mm?)
VA ( 195x 2 = 390 cm®) 2 1
o ga
N/mn? N/mn?
111.0 140.0 OK
131.5 210.0 oK
118.7 210.0 oK

FORUMS8
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